¥ERLNZ / Components

No. £ ¥4 / Part name = / Pcs # & / Material 8- REIE / Color-Finish
* JLRIEEBDHFRICRYMITTEET, 1 7OV kR 1 7 JLSHR A1050P ATHAVYN =T IIAN , ATTAST 99T NAR
* Adhesive rubber feet in cluded. Front panel Aluminium A1050P Hairline brushed silver anodized , Hairline brushed black anodized
2 Y73 1 7 JLEHR A1050P YN =TNIAL, TF9IT AR
Rear panel Aluminium A1050P Silver anodized , Black anodized
8 a—F—Javy 2 FILIH A ¥Fv X+ ADC12 YU-BE TvhBE
Corner block Diecast aluminium ADC12 Gray painted , Black painted
4 OV IL—L 2 TILZIRHE# A6063S-T5 YU-BE TvHBE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
2 5 U7IL—L 2 T IV A A6063S-T5 YN =T LI{+
Rear frame Extruded aluminium A6063S-T5 Silver anodized
L£73/3—/ Top cover 1 #itk SPCC / Steel SPCC AN V- | 75993 % / Light gray painted , Black painted
T7/3— / Bottom cover 1 #fHR SPCC / Steel SPCC AN V- | 7599 EE / Light gray painted , Black painted
o 3 [varor—n 2 7 LIRHH A6063S-T5 YU-BE  7I0IRE
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
9 Y7 I4—h 2 SEPRIEABSH R UL94V-0 Tu=, 7999
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
10 3 LJE / Rubber feet RIJr9LAY / Polyurethane 7799 / Black
13 1| BEER (M4 x 6 43) 8% = {fiyni—t
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
12 H{TE R (M4 x 8 ) 8 E7S =ffiyni—+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
13 ER{TE X (M4 x 10 /31 UR) 4 % =i RIni-+
Screw (M4 — 10 Binding head) Steel Black trivalent chromate

w4 /Title
HASHINTEHRTR ALY RT b —2 O]
itk (BUFEKREDQ) / Color type (End of product number[]) _ TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE e
£ 5 / Code INAIL / Panel ETH/N— / Top = Bottom cover | HA/KTJL—.Ls / Side frame 78/ Approved %X /Checked H[¥/Created U F/Product number
G < JLiN— / Silver SA k4 L— / Light gray J'L— / Gray MS222-43-45[1
B I5v% / Black 5% / Black 5% / Black iR X FHt 8
BS < JLsS— / Silver 7594 / Black J5w4% / Black {ER B /Date 2017/07/03




12.5

20

10

20

1)J72L—.Is1 / Rear framel

B~k / Max dim. 216.5

C C
| I
$h~T5 M im. 42 $h~ti% / Max dim. 409
400 20 k7L —.A 1 / Front framel AN TE / Max dim. 425 BITiE ax dim
I —_
450 430 )7 7L —.1\2 / Rear frame2

B B
- » &

o [Te]
4 - o
8 S <
= = | =
A
HAKTJL—.L1 / Side framel 403 HAKTIL—.L2 / Side frame2 400
20 k270 —.12 / Front frame?2
A /Title
20.6 TAKACHI| #REMIHFERITE AR RT I —2 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE
7R/ Approved & /Checked #I[X]/Created R /Product number RIE/Scale
© MS222-43-4501 1:6
S iR s ST
Y ) 2 / 8
e B /Date 2017/07/03




02 k/\2RJL / Front panel

A~T3i% / Max dim. 205.5

%

B

BEZh~ti% / Max dim. 400

INAJLERE / Panel Frontside

1)J7/\4)L / Rear panel

Ntk / Max dim. 205

=
p3

ol

BEZh~ti% / Max dim. 400

JNZRJLFRME / Panel Frontside

fREE—MMA

Surface protective film side

NTSAVFE

Hairline brushed direction

REES—HA

Surface protective film side

403

2115

/NAJLEME / Panel Backside

408.5

211.3

I\ JLEME / Panel Backside

BRALUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

7R/ Approved

iR

& /Checked

x

#UX/Created

B

JAVRARIL YT ISR O]
Front panel , Rear panel
& /Product number RE/Scale
H222 - W430 1
{ERCH /Date 2017/07/03 8/ 8




4175

2-25 4-245

0O KAl / Front side

216.5
199.5

35 337.5

702 MMl / Front side

2-24.2

209

15

1915

55.5

55.5

i
1

I~ [k [y T [ W [ s e

>
N o
3 ¢
-) (-

HAKJL—.L1 / Side framel

HAKIL—.L2 / Side frame?2

fnda/Title
TAKACHI| #XRHINFERTE HARTL—Ls O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
7 %/ Approved & [X]/Checked #UX/Created #F /Product number RE/Scale
H222 - D450 15
iR x 4t 4 8
{YER B /Date 2017/07/03




403

R4 8
e~
Q | {e [}
393 2-MARHY S} 70>k JL—.L1 / Front framel
2-M4 Countersunk
fo)

Ol
ﬂ)
on ||||

Sil

20 k7L —L2 / Front frame?2

fnda/Title
TAKACHI| #HASHINFERIE JAVkIL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Front frame
7 %/ Approved & [X]/Checked #UX/Created #F /Product number RE/Scale
W430 13
iR x FH 5 8
{YER B /Date 2017/07/03




20

411

5.5

g

[Py

———

M4

)7L —.1s1 / Rear framel

—

)7L —.,s2 / Rear frame2

fnda/Title
TAKACHI| #RE#hFERTE P IL—Ls () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
7 %/ Approved & [X]/Checked #UX/Created #F /Product number RE/Scale
W430 3
iR x FH 6 8
{YER B /Date 2017/07/03




6,75

15

419.5

puim—

399.5

426.5

B3~Ti% / Max dim. 409

R4.5

B#hTiE / Max dim. 387.5

12

19.5

60

342

o
|||||||I|||||||||Il||I”I||||||||||||||||||||||ﬂllIII"I||||||||llllllllllllllliﬂlllllllllllllllllllﬂ °
D0GUUEUU00000euOUTUG0R0nuvUCTU0DUNNBIUOT000RUNRLUDIOLRND
)
)
2
fnda/Title
BRSUINFERIE EH— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
72/ Approved & /Checked #1[X]/Created FIF /Product number RE/Scale
W430 - D450 14
iR x FH 2 /8
{YER B /Date 2017/07/03




6,75

15

419.5

pmm—

399.5

426.5

B3h~Ti% / Max dim. 409

R4.5

Btk / Max dim. 387.5

12

19.5

6.5

BRSUIHFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
THh/N—

Bottom cover

A
-

7R/ Approved

iR

& /Checked

x

#UX/Created

B

FIFE /Product number

W430 - D450

RE/Scale
1:4

{ER B /Date 2017/07/03




	MS222-43-45 Model (1)
	MS222-43-45 Model (2)
	MS222-43-45 Model (3)
	MS222-43-45 Model (4)
	MS222-43-45 Model (5)
	MS222-43-45 Model (6)
	MS222-43-45 Model (7)
	MS222-43-45 Model (8)

